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MATHEMATICS

CLASS XII
TIME  : 3 hrs







M.M:100

GENERAL  INSTRUCTIONS

PART A

Question numbers  1 to 8 are of 3 marks each

Question numbers  9 to 15 are of 4 marks each

Question numbers  16 to 18 are of 6 marks each

Q1
from the following equation, find the value of x and y:
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Q2
Evaluate:     limit  1—cos4x
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     x
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Q3        Using  differentials, find the approximate value of  25.7

Q4
Evaluate    
[image: image6.wmf]
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Q5
Evaluate
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Q6
At what  points  on the curve  
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is tangent    

            parallel to y-axis?
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Q7
Solve  
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Q8
If A and B are two independent events such that P(AUB)=0.5,P(A)=0.2,find P(B).

Q9
Solve: 
[image: image14.wmf]x

xe

y

dx

dy

4

2

=

+


Q10
Find the  derivative of ,
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with respect to x from first principle.

Q11
Prove , using the properties of  determinants. 
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Q12
Evaluate 
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Q13
Prove that 
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Q14
A speaks truth in 75%  and B  80% of the cases .in what percentage of cases are      

             they likely to contract each other in narrating the same incident? 

Q15 
Evaluate as limit of a sum :
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Q16
solve the equation by matrix method


3x-y+2z=3, x-2y-z =1, 2x+y+3z = 5.

Q17
Show that height of the cylinder of maximum volume that can be inscribed in a 

            Sphere of radius 10 cm is 
[image: image21.wmf]3

20

cm.

Q18
find the area of the region lying between the parabolas 
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Where a
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PART—B

Question number 19 to 22 carry 3 marks each.

Question number  23  to 25 carry 4 marks each.

Question number  26 carries 6 marks.

Q19
Show that vector area of a triangle whose vertices have position 

            vector 
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find also the condition of 

           collinearity of these points.

Q20
find the equation of line passing through point 
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            lines 
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Q21
Two men one stronger than the other have to remove a block of stone  weighing 

           140N with a light pole whose length is 6 metres,the weaker man cannot carry 

             more than 40 of weight. Where must the stone be fastened to the pole so as just   

             to allow him his full share of weight? 

Q22
O is circumcentre of 
[image: image31.wmf].

ABC

D

forces acting along OA,OB,OC are in 

             Equilibrium, Show that 

            P: Q: R =
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Q23
In 
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Q24
A plane passes through affixed point (1,-2 ,3) and cuts the axes in A,B,C. Show 

           that the locus of center of a sphere, passing through the points O, A, B, C  is    
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Q25
A bullet fired into  a target loses half of its velocity (in magnitude) after penetrating 3 

           cm. How much further will it penetrates ?

Q26
A particle is projected at an angle sin-1
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 to the horizontal with velocity of 25 m/sec. 

          Find its position and its velocity at the end of 2 sec. When will it be at the height of 

          \5metres and what will be its velocity then?
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